Example A diagram, completed.

Boxes 2 and 4 have to be linked.  If you weren’t sure if they are linked, ask this question about box 4: “Why is box 4 supposed to be a reason for the conclusion?”  Box 2 answers this question; thus the premises are linked.

Once you have linked boxes 2 and 4 with a plus sign, it doesn’t matter whether you draw the arrow to box 5 from box 4, as I did below, or from box 2.  Both mean the same; both are correct.











+



1.	Disclosure of information to the patient will sometimes increase the likelihood of depression and physical deterioration, or result in choice of medically inoptimal treatment.





3.	Health and prolonged life can be assumed to have priority among preferences for patients who place themselves under physicians’ care.





2.	Disclosure of information is sometimes likely to be detrimental to the patient’s health, perhaps even to hasten his death.








4.	Worsening health or hastening death can be assumed to be contrary to patients’ own true value orderings.








5.	Paternalism is justified:  doctors may sometimes override patients’ prima facie rights to information about risks and treatments or about their own conditions in order to prevent harm to their health.








